Seat No. : 3;1-’—“5
NJ-107

November-2018
B.Com,, Sem.-V

CC-305 : Statistics
(Fundamentals of Statistics)
(Old Cﬂurse)

Time : 2:30 Hours| |[Max. Marks : 70

AARAL: (1) ol oy Ul 5399 U1 B,
(2) QL UYL 25 WAL L e B.
(3)  AUELARAUAAL BulaL 53] 21511,

LA () A [arel 242 iond], Qe Buslol <eldl, | 7
(2) 200 MitiAlL 28 Retsui @M G-l 20v201 100 8. dl ue2e Ad A5 Wi
Wl SRl _
(1) 0 &M ¢ (1) 180 ™ 241 (i) gl 9y 2 o514 4l Slal el
Wl [e"5& 0.6065] | 7
{2 *
(1) ARl [ddarel 242 4:mell, a1 IS 7
(2) 218 WAL 50 5 . ¥ 4 251 g vl 8. o 2L oveial]l ugs Y
20 il (el darii 2 dl Bl AAsuet g wedadl 4 S 3l eyady

WL AEBWRIA [seiui il 25l 1Rie 2 Rzl Andl, 7
(B ol Sl 6L QA oy elior 240 - . 1

(1) it [zl weas 243 Qi) Qiud- 3l vl
(2) s AL B [z Qugyq AR 244213 8.

) MP(r=2)=p(y= 3) S ol Qi Rzl deas A

o

(A) (1) =m0 lzyd) (AR 242 A1, -l 2 24 GUN . N
(2)  Russl Boinaui g wipag espy Wselll Qieuqriu 1/3 6. dl 2L <5l G0
MU 98] el 91 WG Q- 2eya-t AHl GURId ge uuclHil sgl s 1o

A 20UB MUt si21-l 2ivatiedl apears 217 BREL ML 7

Y<|

P.T.O.
l



(1) ARIR [AdreiAl 242l AHml dl -t agerpl 247 Guallall qeldl.

(2)  WRL BelNdl AoRR 4 ML A UFNAL AT AU dl HUH UFNAL HOAdL HE2
5 of) a4y Wl s34 Al il W, '

(B) 1A izl STl QAL ovelio] 24l ;
(1) =L sdel [daRei-l s 4 [QURRL YRR 3ol yeud],
(2) 8L Buel RdRe e [dreir 2443 Al 224l ovual

(3) A5 ARNR [AcRRLAL 1= = 6 21 [QAR0L = 36 Q2L QL UREL Q.

3.0 (A) () Gedilsd crgHl il Aal Mndl Bl uszAL 2l deldl.

(2) AR MRl yRell X 244 R a3 7
Redsn [ 1 [ 2 [N | 5|67 ]8]9]10
X 40 | 42 P38 | 36 | 39 | 42 | 41 | 40 | 41 | 43
R Vi n ABSEIFEE AEEEYE
[A,=0.58, B, =00 =212
YL
(1) . WS Rigid 243 36-Reia 2l R 2wl 4giH 3L, -

(2) 51 s Beule UBuRiL 100 @Al 2As 2Adl 10 [eall darl 2 sl
vl vilaloll el 245 2. 4.5, 1,6, 8, 3, 8. 9 214 10 Al MA@l dl
@vmz[l v{l MHLRLAL A1 EIRL 24 Bewled Wkl ['c‘til dHRL [Rel veudl. 7

(B) «ﬁilvmz{l Sl L ARLAL L LeL AN : 3

(1) C-20EwHL [RizteL AUAL AL ot 24

(2)  geucHs AL AlRAE] R AL R wsdi BigAA s il sRari
21§ ?

3)  np-2Uav-l [Ru=el 2l sul [AdRBUWR 2R B ?

(4) A, Qe Y 2AML

(5)  Ue-les 2UAv-L R lauAl 521 [?lcﬁu.tn 2 HURA € 9

NJ-107 2



4. (A) (1) UHMdl:
(i) lsROWIEL IR

(i) S 20481 WL e

(i) Geugss- atw - Q
N\ d

(2) s [As=lA Av-AL (100, 10, 0) 3 O.C % £151.
i

o
Y| .\\
AU : KO 7
(i) AR e qvy Q
(i) AR [PBowE %q

(i)  AURIL FAH AU

(1

®
\Qmm'l WAHIEL P’ = 0.01. 0.02. 0.03 1% =42

(2) s R Alev-L (1000,
qdl. [e! =037, ¢2 = 0.14. ¢ = 0.05]

ASN. ATI 214 AO

-
f

(B) A=Azl sigve = 1oL 2AM] : 3
) 5 is Redkt v AT Pa = 0.93 Qe dl Gowgsd A vl «
(2) ${ 1ol (200, 20, 2) Al 24 AHWAl.
(3) 0,05l 515 S8 e eveul.
(4)&4{% Gie s fadd el anter avt da 204 25l Aous-a 5. 24 R 2y
w5 5 iz |
(5) Wi oL s Fadl oAt A 2 B U2 510 D15 Wl e HR ATL AL Bda
e 250 DA 450 &l Al 58 AL UEL D sl usin
P.T.0.

'NJ-107



Seat No. :

NJ-107

November-2018
B.Com., Sem.-V

CC-305 : Statistics
(Fundamentals of Statistics)
(Old Course)

Time : 2:30 Hours| | ]rMax. Marks : 70

Instructions: (1) All questions are compulsory:
(2)  Figures on right side indicatéthémarks.
(3) Simple calculator canBe used:

L. (A) (i)  Explain the meaning of Poisson distribution and describe its uses. 7
(11)  These are 100 misprints™in a book of 200 pages. Find the probability of
getting : (i) 0 printing mistakes (ii) | printing mistake and (iii) not more

than 2 mispfints ifa page is selected at random. [ = 0. 6065] 7

OR |

(1) Eq}lmn the meaning of hypergeometric distribution and state its properties. 7

(11) There dre 50 screws in. a lot of which 4 percent are defective. A random

sample of 20 screws is taken from this lot, find the probability that not a

single screw is defective. Also find mean and variance of defective screws. 7

(B) Anw:'er any two from the following : 4
(i) State the formula of mean and variance of Poisson distribution.
(11)  In which circumstances does binomial distribution follows Poisson
distribution. 1 |
(iii) Fora Poisson distribution if P(x = 2) = P(x = 3). find its mean.
2.  (A) (i) Explain the meaning of Negative Binomial Distribution and describe its
characteristics & uses. 7
(if) The }}I‘ﬂbﬂblhf}f of getting head ina L“*F"J riment of tossing a coin is 1/3. Find
the probability of getting 6™ head in 10" trial. Also find the mean &
variances of number of tails before getting 6" head. | 7
OR
4
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() Explain the  meaning of Geometrie  distribution and deseribe s
characteristic and uses, /
() A dieis thrown and petting o s reparded as success, IFind the probability
that more than 5 trials will he required hetore petting Hrst sueeens, 7
(B)  Answerany two lrom the lolowing - 4
i S » el W FLTL ' ' ¢ g . s
(1) .tnh: ”“’. ILI;“.IHH between mean and variance of nepative binpmial
distribution, -
(1) State conditions when Negative Binomial distribution follews geometnic
distribution, | |
(1) The mean ot a geometrie distribution is 6 and itswyariance is 36.find its
parameters. '
3 (A) (1) Describe difterent types of variationswbserved in a produced item. 7
(i) Draw X & R chart tfrom the follewingdata : 7
Sample No.| | [®2 3 2! 5 [ 0 7 / 8 / 9 X [0 /
X 0M%NN38 [36 394241/ 40 / 41 / 43 /
R 193 5 I () 3 2 l 4 2
(A, =0.58¢ D% 0, D, = 2.12]
OR
(1)  Beseribe in short theory of runs and 36-control limits. 7
(i) M Samples each of 100 items are taken from the production process. The
number of defective items in cach sample are respectively 2, 4, 5, 1, 6. 8. 3.
8. 9 and 10. Draw T-chart for this and give your conclusions about the
production process. 5
(B) Answer any three from the followin g5 3
() Give the formula to find control limits of C-chart.
(11)  What are the points called falling below Lower control limits in control
charts in attributes ?
(111)  The control limits of np-chart are based on which distribution ?
(1v)  Give the formula to find A,.
(v)  The control limits of control chart (variable) are based on which distribution ?
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4, (A) (1)  Explain:
(a)  Acceptable quality level
(b) Lot tolerance proportion defective
(¢)  Producer’s Risk _
(1) Draw O.C. curves for single sampling plan. (106, 16, 0)
' OR g
(1)  Explain:
(@) Average sample number
(b)  Average outgoing quality
()  Average total inspeetion
(1)  Find the values at""ASN, ATI and AOQ for single sampling plan
(1000, 100, 3) ﬁZs_I_‘ fraetion defective P' = 0.01. 0.02. 0.03.
[e™! =0.372782 20.14, ¢ = 0.05]
(B) A nswer any. -tli__r{:_c "ffﬁm the following : |
_ (1) Find pfﬁdlléﬂr‘s risk for a sampling plan for which Pa=0.93.
(11) Eiiﬁl-ai’n the 111ea’ni1_1g, of single sampling plan. (200, 20, 2)
-. -(i'i:'i’)_ State any one characteristic of an O.C. curve.

(iv)  When in any single sampling plan probability of acceptance increase with
| increase of fraction defective. — This statement is true or false.

(v) For two single sampling plan A and B, the values of ATI are 250 and 430
Which plan is better ?
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Instructions : (1)

#
\ ®

All questions are -.:nmpulﬁﬂr}‘. \

(2)  Figures on right side indicates Mk

(3)  Simple caleulator can be | K
(4)  Graphs will be given ( I@L

i (A) (1) What is Integration ? ¢
(1) Find the values of fi e

_ &
(a) J (4 N— N+ 4) dy

ny four results.

$ (1) Explain the meaning o detimte integration and its any tour results. T
(1) Find the values of tollowing : 7
4
" (8) l '\,’ N l
i dy
; d My ¥8I7 -
\
f
(h) ]J(n Y
()
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(B) Answer any two from the following :

- % i : L W . | s ) - - . . ? .
Explain the meaning of Poisson distribution and describe it uses. 7
There are 100 misprints ina book of 200 pages. Find ¢hetprobability of
(i) 0 misprint (ii) 1 misprint and (iii) at the most 2 misprints if*a page IS
selected at random. [ = 0.6065 ] | 7
OR
Explain the meaning of hypergeometrie di&ribution and describe 1ts
characteristics. 7
There are 50 screws in a packet 1 whicli’4% are defective. A sample ot 20
pa _ p
screws are taken. Find the probability that not a single screw is defective.
Also obtain mean and variance0f detective screws. 7
(B) Answer any two from the following : 4
State formula to find,mean and variance of Poisson distribution.
In which cases detsbinomial distribution follows Poisson distribution.
[f for a Poisson distribution P(x=2)=P(x=3). Find its Mean. 3
Describe different types of variations observed in a produced item. 7
Draw X & R chart from the following data : 7
SumpleNo| 1 | 2. |.3:] 4.] 3 SERERESE 1 f—%m 20
L L ﬁ q 1
- - . -
F{' 4” 42 7,3 3(} .,LJ 42 -“ 4“ 41 43 L‘k h-gf{,
| | 2 3 é,\".-"-;'p
R 27/, _.151 5 [ 0 3 2 l 4 L. =] 50
: ) |
[AE =().58, D;ﬂ (), I)-I . 2[2] “I___ M';GCI
O
OR
Describe in short theory of runs and 36-control limits. 7
10 Samples each of 100 items qre-taken from the production process. lhe
. = . . ¥ Stk B Ny T . | ik \ “ 1
number of defective items in each sample are respectively 2 “- 2 1;}‘“ ""I-‘H
8. 9 and 10, Draw T-chart for this and give your conclusions about the .
production process.
P.T.0.
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(ii)

Find total revenue formula it MR = 5 + 4

Find total cost formula it MC = -ﬂ—} - 5()

Lt }
Find the value ol J *sJ v oy
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- (B) Answer any three from the following :

Cad

{1)  Give the formula to find control limits of C-chart.

(1) . What are the points called falling below. Lower control limits in control
chart in attrnibutes ?

_t(iii) The control limits of np-chart are hased on which distnbution ?
(1v)  Give the formula to find As.

(v)  The control limits of controkchart (variable) are based on w hich distnbution 2. e
- Q:q:b&\

Ir
\ 7
_Q an. (100. 10.0)_ 7

=.  (A) (1) Explain:

© (2@)  Acceptable quality level

(b) Lot tolerance proportion defectiv
(c) Producer’s Risk

(1Y Draw O.C. curves for single

(b) qualir}
" (c) Av | Inspection,
- : .,FL - th—r
(11), Find at AS\ ATI and -\OQ for single sampling plan
/ (1000, for fraction defective P'=0.01. 0.02. 0.03.

[

ﬁr any three from the following :

B) 3
&) Find producer’s nsk for single sampling plan for which Pa =}¢3.

(i1)  Explain the meaning of single sampling plan (200, 20. 2).

(iii) State any one characteristic ot an O.C. cunve.
(iv)  When in any single sampling plan probability of acceptance increase with
InCrease of fraction defective — This statement is true or I‘Jge

(v)  For two single sampling plan A and B, the values of ATI are 250 and 430,
Which plan is better
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